
Problem	
  28.1	
  
The	
  EMF	
  of	
  a	
  ba4ery	
  measures	
  the	
  
inherent	
  power-­‐producing,	
  electric	
  field	
  
generaCng	
  character	
  of	
  the	
  ba4ery.	
  	
  When	
  
current	
  is	
  drawn	
  from	
  the	
  ba4ery	
  (which	
  
is	
  analogous	
  to	
  current	
  passing	
  through	
  
the	
  ba4ery),	
  the	
  voltage	
  difference	
  across	
  
the	
  ba4ery’s	
  terminal	
  is	
  such	
  that	
  

1.)	
  

ε

R

i

ΔVEMF = ε ΔVR = −iR

ΔVterminal = ε − iR
ΔVterminal = Vterminal = ε − iR
   ⇒       11.6 V( ) = 15 V( ) − iR

   ⇒       i =
3.4 V( )

R
The	
  power	
  raCng	
  is:	
  

    P     =      i         Vterminal

20 W( ) = 3.4 V( )
R
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11.6 V( )
   ⇒       R = 1.97 Ω


